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1. BES A={x|—1<x<2}, £4& B={x|1<x<3}, ] AUB=

(A){x|—1<x<3} B){x|—1<x<1} (C){x|1<x<2} (D){x2<x<3}
2. WhEa=2,4)5M & b=(x,6)3L2k, M5LH x=
(A)2 (B)3 (O)4 (D)6

3. BERON T TIR=%9 NFEH NWERX=FR WP EERN TR B R EER, UNX=
ANMEG b NI IBGR 7 22 AR AT R A, & B B T V2

(A)Fh 22 (B) A Gtttk (O3 2% (D)FEHLE %
4, ¥ ab NIETH, N “a>b>1" & “logra>logb>0" ]
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5. FAIRET, f/NEE AR & Rk oe
(A)y=sin(2x+ %) (B)y=cos(2x+ %)
(C)y=sin2x+cos2x (D)y=sinx+cosx
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2x+y <10
9. W xy R x+2y <14, M xy HEKMEN
xX+y=6
25 49
A)— B) — O)12 D)16
( )2 (B) > © D)

10, WHZ 1 5L y>=4x BT AB Pk, SREx—5*+y?=r2c>0)MP) T A M, HM NZEE
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12+ 1g0.01+log:16=
13. Y40 sina+2cosa=0, NI 2sin.a.coso— cos?alJ{H /&
14, fE=#ME ABC—ABiCi ', ZBAC=90" , JHIEALEIFMALEAZLEK RN 1 MIERE, LK
RHEMABK N1 EBEE A=A, 55 MNP 7252 AB,BC,B\Ci I £, M =#HE P—AIMN [11£
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15. AR f(x)=2%gx)=x>+ax(H: T a€R) X T ALK 28 x1,x2, % m=

B8 gyt g,
X T X

(L)X AR R A SE S5 x1,x2, #5AH m>0;

QYN AR a KAEEAAHER)LH x1,x2, #H n>0;

G TAERER a, AFAEAAHE R LH x1,x2, 13 m=n;

ORI TAERER a, AFAEAHE R LI x1,x2, 43 m=—n.
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CU1 A. B C N aABC [, tanB 2% T x> +3px—p+1=0 (peR) Bl i,
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CATRE f (x) ==2xInx+x* —2ax+a*, HF a>0.
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